



DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

Date Ordered: 08/07/2025
 Entered By: Gladys Mejia
 Sales Order: 101227
 Sidemark: TREASURE ISLAND BUFF
 Ship Via: BW

Ship Date: 08/22/2025



SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD Phone: (702) 842-4044
 SAN DIEGO, CA 92154-7208

SHIP TO: Account:
 TREASURE ISLAND - BUFFALO TOWER Phone: (507) 884-7081
 5734 STURGEON LAKE RD Fax:
 WELCH, MN 55089-9647 Contact: KNUNTSON SUPT TIM JACOBSON

Comments: 40% Deposit Invoice 764 03.28.25 \$34,346.36
 posted for payment per preliminary PO 12316 Quote 38356-II rev3 03.24.25 \$85,865.90
 (as of 11.05.25 only paid \$18,318.06)

* \$3,410.00 - applied as deposit on Invoice 26909 08.08.25 (26755 cancelled)
 * \$1,656.00 - applied as deposit on Invoice 26980 09.25.25
 * \$1,786.00 - applied as deposit on Invoice 27059 10.10.25
 * \$1,847.00 - applied as deposit on Invoice 27085 10.14.25
 * \$1,774.00 - applied as deposit on Invoice 27190 10.31.25

Remaining Deposit: \$23,873.36

Item	Qty	UM	Stock No.	Description	Unit	Extended
1	213	EA	SPECIAL DRAPERY - SHEER TRAVERSING PANELS		68.6180	14,615.63
			Room Location: WT-2 SHEER Room Type: GUEST ROOM Header Type: PINCH PLEAT (3-FINGER) Fullness: 250% Draw Type: BATON Control / Product Width: 140 Control / Product Length: 96 Fabric Type: DWW Fabric Pattern: CANDELA Fabric Color: LAKE Fabric Cost Per Yard \$: 13 1/2 Fabric Width: 119 Railroad Material: YES Top Hem: 4 Bottom Hem: 4 Side Hem: 1 1/2 Return Length: 3 Pin Placement: 1 1/2 Bottom Treatment: CHAIN WEIGHTS Fabric Yards Required: 2460			
2	213	EA	SPECIAL DRAPERY - TRACK TRAVERSING PANELS		41.2215	8,780.17
			Room Location: WT-2 SHEER Room Type: GUEST ROOM Header Type: PINCH PLEAT (3-FINGER) Fullness: 250% Draw Type: BATON Mount Type: CEILING Product Inclusion - Baton(s): 36" WHITE FIBERGLASS Product Inclusion - Bracket(s): CEILING BRACKETS Control / Product Width: 140 Control / Product Length: 96 Pin Placement: 1 1/2 Bracket Total: 6			



DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

Date Ordered: 08/07/2025
 Entered By: Gladys Mejia
 Sales Order: 101227
 Sidemark: TREASURE ISLAND BUFF
 Ship Via: BW

Ship Date: 08/22/2025



SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD Phone: (702) 842-4044
 SAN DIEGO, CA 92154-7208

SHIP TO: Account:
 TREASURE ISLAND - BUFFALO TOWER Phone: (507) 884-7081
 5734 STURGEON LAKE RD Fax:
 WELCH, MN 55089-9647 Contact: KNUNTSON SUPT TIM JACOBSON

3 4 EA SPECIAL DRAPERY - SHEER TRAVERSING PANELS 42.9000 171.60

Room Location: WT-2 SHEER
 Room Type: GUEST ROOM
 Header Type: PINCH PLEAT (3-FINGER)
 Fullness: 250%
 Draw / Stack: RIGHT DRAW / LEFT STACK (1 PANEL)
 Draw Type: BATON
 Control / Product Width: 115
 Control / Product Length: 96
 Fabric Type: DWW
 Fabric Pattern: CANDELA
 Fabric Color: LAKE
 Fabric Cost Per Yard \$: 13 1/2
 Fabric Width: 119
 Railroad Material: YES
 Top Hem: 4
 Bottom Hem: 4
 Side Hem: 1 1/2
 Return Length: 3
 Pin Placement: 1 1/4
 Bottom Treatment: CHAIN WEIGHTS
 Stiffners: YES
 Fabric Yards Required: 114

4 4 EA SPECIAL DRAPERY - TRACK TRAVERSING PANELS 26.4000 105.60

Room Location: WT-2 SHEER
 Room Type: GUEST ROOM
 Header Type: PINCH PLEAT (3-FINGER)
 Fullness: 250%
 Draw / Stack: RIGHT DRAW / LEFT STACK (1 PANEL)
 Draw Type: BATON
 Mount Type: CEILING
 Product Inclusion - Baton(s): 36" WHITE FIBERGLASS
 Product Inclusion - Bracket(s): CEILING BRACKETS
 Control / Product Width: 115
 Control / Product Length: 96
 Pin Placement: 1 1/4
 Bracket Total: 5



DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

Date Ordered: 08/07/2025
 Entered By: Gladys Mejia
 Sales Order: 101227
 Sidemark: TREASURE ISLAND BUFF
 Ship Via: BW

Ship Date: 08/22/2025



SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD Phone: (702) 842-4044
 SAN DIEGO, CA 92154-7208

SHIP TO: Account:
 TREASURE ISLAND - BUFFALO TOWER Phone: (507) 884-7081
 5734 STURGEON LAKE RD Fax:
 WELCH, MN 55089-9647 Contact: KNUNTSON SUPT TIM JACOBSON

5 3 EA SPECIAL DRAPERY - SHEER 68.6180 205.85

TRAVERSING PANELS

Room Location: WT-2 SHEER
 Room Type: GUEST ROOM
 Header Type: PINCH PLEAT (3-FINGER)
 Fullness: 250%
 Draw / Stack: RIGHT DRAW / LEFT STACK (1 PANEL)
 Draw Type: BATON
 Control / Product Width: 128
 Control / Product Length: 96
 Fabric Type: DWW
 Fabric Pattern: CANDELA
 Fabric Color: LAKE
 Fabric Cost Per Yard \$: 13 1/2
 Fabric Width: 119
 Railroad Material: YES
 Top Hem: 4
 Bottom Hem: 4
 Side Hem: 1 1/2
 Return Length: 3
 Pin Placement: 1 1/4
 Bottom Treatment: CHAIN WEIGHTS
 Stiffners: YES
 Fabric Yards Required: 31 1/2

6 3 EA SPECIAL DRAPERY - TRACK 41.2215 123.66

TRAVERSING PANELS

Room Location: WT-2 SHEER
 Room Type: GUEST ROOM
 Header Type: PINCH PLEAT (3-FINGER)
 Fullness: 250%
 Draw / Stack: RIGHT DRAW / LEFT STACK (1 PANEL)
 Draw Type: BATON
 Mount Type: CEILING
 Product Inclusion - Baton(s): 36" WHITE FIBERGLASS
 Product Inclusion - Bracket(s): CEILING BRACKETS
 Control / Product Width: 128
 Control / Product Length: 96
 Pin Placement: 1 1/4
 Bracket Total: 5



DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

Date Ordered: 08/07/2025
 Entered By: Gladys Mejia
 Sales Order: 101227
 Sidemark: TREASURE ISLAND BUFF
 Ship Via: BW

Ship Date: 08/22/2025



SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD Phone: (702) 842-4044
 SAN DIEGO, CA 92154-7208

SHIP TO: Account:
 TREASURE ISLAND - BUFFALO TOWER Phone: (507) 884-7081
 5734 STURGEON LAKE RD Fax:
 WELCH, MN 55089-9647 Contact: KNUNTSON SUPT TIM JACOBSON

7	24	EA	SPECIAL DRAPERY - SHEER TRAVERSING PANELS		68.6180	1,646.83
			Room Location: WT-2 SHEER			
			Room Type: GUEST ROOM			
			Header Type: PINCH PLEAT (3-FINGER)			
			Fullness: 250%			
			Draw Type: BATON			
			Control / Product Width: 156			
			Control / Product Length: 96			
			Fabric Type: DWW			
			Fabric Pattern: CANDELA			
			Fabric Color: LAKE			
			Fabric Cost Per Yard \$: 13 1/2			
			Fabric Width: 119			
			Railroad Material: YES			
			Top Hem: 4			
			Bottom Hem: 4			
			Side Hem: 1 1/2			
			Return Length: 3			
			Pin Placement: 1 1/4			
			Bottom Treatment: CHAIN WEIGHTS			
			Stiffeners: YES			
			Fabric Yards Required: 318			
8	24	EA	SPECIAL DRAPERY - TRACK TRAVERSING PANELS		41.2214	989.31
			Room Location: WT-2 SHEER			
			Room Type: GUEST ROOM			
			Header Type: PINCH PLEAT (3-FINGER)			
			Fullness: 250%			
			Draw Type: BATON			
			Mount Type: CEILING			
			Product Inclusion - Baton(s): 36" WHITE FIBERGLASS			
			Product Inclusion - Bracket(s): CEILING BRACKETS			
			Control / Product Width: 156			
			Control / Product Length: 96			
			Pin Placement: 1 1/4			
			Bracket Total: 6			
9	12	EA	SPECIAL DRAPERY - SHEER TRAVERSING PANELS		68.6180	823.41
			Room Location: WT-2 SHEER			
			Room Type: GUEST ROOM			
			Header Type: PINCH PLEAT (3-FINGER)			
			Fullness: 250%			
			Draw Type: BATON			
			Control / Product Width: 148			
			Control / Product Length: 96			
			Fabric Type: DWW			
			Fabric Pattern: CANDELA			
			Fabric Color: LAKE			
			Fabric Cost Per Yard \$: 13 1/2			
			Fabric Width: 119			
			Railroad Material: YES			
			Top Hem: 4			
			Bottom Hem: 4			
			Side Hem: 1 1/2			
			Return Length: 3			
			Pin Placement: 1 1/4			
			Bottom Treatment: CHAIN WEIGHTS			
			Stiffeners: YES			
			Fabric Yards Required: 150			



DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

Date Ordered: 08/07/2025
 Entered By: Gladys Mejia
 Sales Order: 101227
 Sidemark: TREASURE ISLAND BUFF
 Ship Via: BW

Ship Date: 08/22/2025



SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD Phone: (702) 842-4044
 SAN DIEGO, CA 92154-7208

SHIP TO: Account:
 TREASURE ISLAND - BUFFALO TOWER Phone: (507) 884-7081
 5734 STURGEON LAKE RD Fax:
 WELCH, MN 55089-9647 Contact: KNUNTSON SUPT TIM JACOBSON

10	12	EA	SPECIAL DRAPERY - TRACK TRAVERSING PANELS		41.2215	494.65
			Room Location: WT-2 SHEER			
			Room Type: GUEST ROOM			
			Header Type: PINCH PLEAT (3-FINGER)			
			Fullness: 250%			
			Draw Type: BATON			
			Mount Type: CEILING			
			Product Inclusion - Baton(s): 36" WHITE FIBERGLASS			
			Product Inclusion - Bracket(s): CEILING BRACKETS			
			Control / Product Width: 148			
			Control / Product Length: 96			
			Pin Placement: 1 1/4			
			Bracket Total: 6			
11	3	EA	SPECIAL DRAPERY - SHEER TRAVERSING PANELS		68.6180	205.85
			Room Location: WT-2 SHEER			
			Room Type: GUEST ROOM			
			Header Type: PINCH PLEAT (3-FINGER)			
			Fullness: 250%			
			Draw Type: BATON			
			Control / Product Width: 240			
			Control / Product Length: 96			
			Fabric Type: DWW			
			Fabric Pattern: CANDELA			
			Fabric Color: LAKE			
			Fabric Cost Per Yard \$: 13 1/2			
			Fabric Width: 119			
			Top Hem: 4			
			Bottom Hem: 4			
			Side Hem: 1 1/2			
			Return Length: 3			
			Pin Placement: 1 1/4			
			Bottom Treatment: CHAIN WEIGHTS			
			Stiffeners: YES			
			Fabric Yards Required: 60			
12	3	EA	SPECIAL DRAPERY - TRACK TRAVERSING PANELS		41.2215	123.66
			Room Location: WT-2 SHEER			
			Room Type: GUEST ROOM			
			Header Type: PINCH PLEAT (3-FINGER)			
			Fullness: 250%			
			Draw Type: BATON			
			Mount Type: CEILING			
			Product Inclusion - Baton(s): 36" WHITE FIBERGLASS			
			Product Inclusion - Bracket(s): CEILING BRACKETS			
			Control / Product Width: 240			
			Control / Product Length: 96			
			Pin Placement: 1 1/4			
			Bracket Total: 9			



DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

Date Ordered: 08/07/2025
 Entered By: Gladys Mejia
 Sales Order: 101227
 Sidemark: TREASURE ISLAND BUFF
 Ship Via: BW

Ship Date: 08/22/2025



SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD Phone: (702) 842-4044
 SAN DIEGO, CA 92154-7208

SHIP TO: Account:
 TREASURE ISLAND - BUFFALO TOWER Phone: (507) 884-7081
 5734 STURGEON LAKE RD Fax:
 WELCH, MN 55089-9647 Contact: KNUNTSON SUPT TIM JACOBSON

13	12	EA	SPECIAL DRAPERY - SHEER TRAVERSING PANELS		68.6180	823.41
			Room Location: WT-2 ADA SHEER			
			Room Type: GUEST ROOM			
			Header Type: PINCH PLEAT (3-FINGER)			
			Fullness: 250%			
			Draw Type: BATON			
			Control / Product Width: 140			
			Control / Product Length: 96			
			Fabric Type: DWW			
			Fabric Pattern: CANDELA			
			Fabric Color: LAKE			
			Fabric Cost Per Yard \$: 13 1/2			
			Fabric Width: 55			
			Top Hem: 4			
			Bottom Hem: 4			
			Side Hem: 1 1/2			
			Return Length: 6			
			Pin Placement: 1 1/4			
			Stiffeners: YES			
			Fabric Yards Required: 144			
14	12	EA	SPECIAL DRAPERY - TRACK TRAVERSING PANELS		41.2215	494.65
			Room Location: WT-2 ADA SHEER			
			Room Type: GUEST ROOM			
			Header Type: PINCH PLEAT (3-FINGER)			
			Fullness: 250%			
			Draw Type: BATON			
			Mount Type: CEILING			
			Product Inclusion - Baton(s): 48" WHITE FIBERGLASS ADA LOOPED			
			Product Inclusion - Bracket(s): CEILING BRACKETS			
			Control / Product Width: 140			
			Control / Product Length: 96			
			Pin Placement: 1 1/4			
			Bracket Total: 6			
15	1	EA	SPECIAL DRAPERY - SHEER TRAVERSING PANELS		68.6180	68.61
			Room Location: WT-2 ADA SHEER			
			Room Type: GUEST ROOM			
			Header Type: PINCH PLEAT (3-FINGER)			
			Fullness: 250%			
			Draw Type: BATON			
			Control / Product Width: 243			
			Control / Product Length: 96			
			Fabric Type: DWW			
			Fabric Pattern: CANDELA			
			Fabric Color: LAKE			
			Fabric Cost Per Yard \$: 13 1/2			
			Fabric Width: 119			
			Top Hem: 4			
			Bottom Hem: 4			
			Side Hem: 1 1/2			
			Return Length: 3			
			Pin Placement: 1 1/4			
			Bottom Treatment: CHAIN WEIGHTS			
			Stiffeners: YES			
			Fabric Yards Required: 25 1/4			



DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

Date Ordered: 08/07/2025
 Entered By: Gladys Mejia
 Sales Order: 101227
 Sidemark: TREASURE ISLAND BUFF
 Ship Via: BW

Ship Date: 08/22/2025



SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD Phone: (702) 842-4044
 SAN DIEGO, CA 92154-7208

SHIP TO: Account:
 TREASURE ISLAND - BUFFALO TOWER Phone: (507) 884-7081
 5734 STURGEON LAKE RD Fax:
 WELCH, MN 55089-9647 Contact: KNUNTSON SUPT TIM JACOBSON

16	1	EA	SPECIAL DRAPERY - TRACK TRAVERSING PANELS		41.2215	41.22
			Room Location: WT-2 ADA SHEER			
			Room Type: GUEST ROOM			
			Header Type: PINCH PLEAT (3-FINGER)			
			Fullness: 250%			
			Draw Type: BATON			
			Mount Type: CEILING			
			Product Inclusion - Baton(s): 48" WHITE FIBERGLASS ADA LOOPED			
			Product Inclusion - Bracket(s): CEILING BRACKETS			
			Control / Product Width: 243			
			Control / Product Length: 96			
			Pin Placement: 1 1/4			
			Bracket Total: 9			
17	10	EA	SPECIAL DRAPERY - SHEER TRAVERSING PANELS		68.6180	686.18
			Room Location: ATTIC STOCK SHEER			
			Room Type: GUEST ROOM			
			Header Type: PINCH PLEAT (3-FINGER)			
			Fullness: 250%			
			Draw Type: BATON			
			Control / Product Width: 140			
			Control / Product Length: 96			
			Fabric Type: DWW			
			Fabric Pattern: CANDELA			
			Fabric Color: LAKE			
			Fabric Cost Per Yard \$: 13 1/2			
			Fabric Width: 119			
			Railroad Material: YES			
			Top Hem: 4			
			Bottom Hem: 4			
			Side Hem: 1 1/2			
			Return Length: 3			
			Pin Placement: 1 1/4			
			Bottom Treatment: CHAIN WEIGHTS			
			Stiffeners: YES			
			Fabric Yards Required: 120			
18	10	EA	SPECIAL DRAPERY - TRACK TRAVERSING PANELS		0.0000	0.00
			Room Location: ATTIC STOCK SHEER			
			Room Type: GUEST ROOM			
			Header Type: PINCH PLEAT (3-FINGER)			
			Fullness: 250%			
			Draw Type: BATON			
			Mount Type: CEILING			
			Product Inclusion - Baton(s): 36" WHITE FIBERGLASS			
			Control / Product Width: 140			
			Control / Product Length: 96			
			Pin Placement: 1 1/4			



DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

Date Ordered: 08/07/2025
 Entered By: Gladys Mejia
 Sales Order: 101227
 Sidemark: TREASURE ISLAND BUFF
 Ship Via: BW

Ship Date: 08/22/2025



SUPPLIER: 103	SHIP TO:	Account:
RUFFO DE ALBA FORWARDER 9927 VIA DE LA AMISTAD SAN DIEGO, CA 92154-7208	TREASURE ISLAND - BUFFALO TOWER 5734 STURGEON LAKE RD WELCH, MN 55089-9647	Phone: (507) 884-7081 Fax: Contact: KNUTSON SUPT TIM JACOBSON
19 213 EA SPECIAL DRAPERY - BLACKOUT TRAVERSING PANELS		
Room Location:	WT-1 DRAPE	62.6439 13,343.15
Room Type:	GUEST ROOM	
Header Type:	PINCH PLEAT (3-FINGER)	
Fullness:	200%	
Draw Type:	BATON	
Control / Product Width:	140	
Control / Product Length:	96	
Fabric Type:	DWW	
Fabric Pattern:	PAXTON	
Fabric Color:	PENTELIC	
Fabric Cost Per Yard \$:	12.95	
Fabric Width:	55	
Top Hem:	4	
Bottom Hem:	4	
Side Hem:	1 1/2	
Return Length:	6	
Pin Placement:	1 1/4	
Stiffeners:	YES	
Fabric Yards Required:	3895	
20 213 EA SPECIAL DRAPERY - TRACK TRAVERSING PANELS		
Room Location:	WT-1 DRAPE	41.2215 8,780.17
Room Type:	GUEST ROOM	
Header Type:	PINCH PLEAT (3-FINGER)	
Fullness:	200%	
Draw Type:	BATON	
Mount Type:	CEILING	
Product Inclusion - Baton(s):	36" WHITE FIBERGLASS	
Product Inclusion - Bracket(s):	CEILING BRACKETS	
Control / Product Width:	140	
Control / Product Length:	96	
Pin Placement:	1 1/4	
Bracket Total:	6	
21 4 EA SPECIAL DRAPERY - BLACKOUT TRAVERSING PANELS		
Room Location:	WT-1 DRAPE	42.7000 170.80
Room Type:	GUEST ROOM	
Header Type:	PINCH PLEAT (3-FINGER)	
Fullness:	200%	
Draw / Stack:	RIGHT DRAW / LEFT STACK (1 PANEL)	
Draw Type:	BATON	
Control / Product Width:	115	
Control / Product Length:	96	
Fabric Type:	DWW	
Fabric Pattern:	PAXTON	
Fabric Color:	PENTELIC	
Fabric Cost Per Yard \$:	12.95	
Fabric Width:	55	
Top Hem:	4	
Bottom Hem:	4	
Side Hem:	1 1/2	
Return Length:	6	
Pin Placement:	1 1/4	
Stiffeners:	YES	
Fabric Yards Required:	192	



DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

Date Ordered: 08/07/2025
 Entered By: Gladys Mejia
 Sales Order: 101227
 Sidemark: TREASURE ISLAND BUFF
 Ship Via: BW

Ship Date: 08/22/2025



SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD Phone: (702) 842-4044
 SAN DIEGO, CA 92154-7208

SHIP TO: Account:
 TREASURE ISLAND - BUFFALO TOWER Phone: (507) 884-7081
 5734 STURGEON LAKE RD Fax:
 WELCH, MN 55089-9647 Contact: KNUNTSON SUPT TIM JACOBSON

22	4	EA	SPECIAL DRAPERY - TRACK TRAVERSING PANELS		26.4000	105.60
			Room Location: WT-1 DRAPE			
			Room Type: GUEST ROOM			
			Header Type: PINCH PLEAT (3-FINGER)			
			Fullness: 200%			
			Draw / Stack: RIGHT DRAW / LEFT STACK (1 PANEL)			
			Draw Type: BATON			
			Mount Type: CEILING			
			Product Inclusion - Baton(s): 36" WHITE FIBERGLASS			
			Product Inclusion - Bracket(s): CEILING BRACKETS			
			Control / Product Width: 115			
			Control / Product Length: 96			
			Pin Placement: 1 1/4			
			Bracket Total: 5			
23	3	EA	SPECIAL DRAPERY - BLACKOUT TRAVERSING PANELS		62.6439	187.93
			Room Location: WT-1 DRAPE			
			Room Type: GUEST ROOM			
			Header Type: PINCH PLEAT (3-FINGER)			
			Fullness: 200%			
			Draw / Stack: RIGHT DRAW / LEFT STACK (1 PANEL)			
			Draw Type: BATON			
			Control / Product Width: 128			
			Control / Product Length: 96			
			Fabric Type: DWW			
			Fabric Pattern: PAXTON			
			Fabric Color: PENTELIC			
			Fabric Cost Per Yard \$: 12.95			
			Fabric Width: 55			
			Top Hem: 4			
			Bottom Hem: 4			
			Side Hem: 1 1/2			
			Return Length: 6			
			Pin Placement: 1 1/4			
			Stiffeners: YES			
			Fabric Yards Required: 52 1/2			
24	3	EA	SPECIAL DRAPERY - TRACK TRAVERSING PANELS		41.2215	123.66
			Room Location: WT-1 DRAPE			
			Room Type: GUEST ROOM			
			Header Type: PINCH PLEAT (3-FINGER)			
			Fullness: 200%			
			Draw / Stack: RIGHT DRAW / LEFT STACK (1 PANEL)			
			Draw Type: BATON			
			Mount Type: CEILING			
			Product Inclusion - Baton(s): 36" WHITE FIBERGLASS			
			Product Inclusion - Bracket(s): CEILING BRACKETS			
			Control / Product Width: 128			
			Control / Product Length: 96			
			Pin Placement: 1 1/4			
			Bracket Total: 5			



DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

Date Ordered: 08/07/2025
 Entered By: Gladys Mejia
 Sales Order: 101227
 Sidemark: TREASURE ISLAND BUFF
 Ship Via: BW

Ship Date: 08/22/2025



SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD Phone: (702) 842-4044
 SAN DIEGO, CA 92154-7208

SHIP TO: Account:
 TREASURE ISLAND - BUFFALO TOWER Phone: (507) 884-7081
 5734 STURGEON LAKE RD Fax:
 WELCH, MN 55089-9647 Contact: KNUNTSON SUPT TIM JACOBSON

25 24 EA SPECIAL DRAPERY - BLACKOUT 62.6439 1,503.45

TRaversing panels

Room Location: WT-1 DRAPE
 Room Type: GUEST ROOM
 Header Type: PINCH PLEAT (3-FINGER)
 Fullness: 200%
 Draw Type: BATON
 Control / Product Width: 156
 Control / Product Length: 96
 Fabric Type: DWW
 Fabric Pattern: PAXTON
 Fabric Color: PENTELIC
 Fabric Cost Per Yard \$: 12.95
 Fabric Width: 55
 Top Hem: 4
 Bottom Hem: 4
 Side Hem: 1 1/2
 Return Length: 6
 Pin Placement: 1 1/4
 Stiffners: YES
 Fabric Yards Required: 534

26 24 EA SPECIAL DRAPERY - TRACK 41.2214 989.31

TRaversing panels

Room Location: WT-1 DRAPE
 Room Type: GUEST ROOM
 Header Type: PINCH PLEAT (3-FINGER)
 Fullness: 200%
 Draw Type: BATON
 Mount Type: CEILING
 Product Inclusion - Baton(s): 36" WHITE FIBERGLASS
 Product Inclusion - Bracket(s): CEILING BRACKETS
 Control / Product Width: 156
 Control / Product Length: 96
 Pin Placement: 1 1/4
 Bracket Total: 6

27 12 EA SPECIAL DRAPERY - BLACKOUT 62.6439 751.72

TRaversing panels

Room Location: WT-1 DRAPE
 Room Type: GUEST ROOM
 Header Type: PINCH PLEAT (3-FINGER)
 Fullness: 200%
 Draw Type: BATON
 Control / Product Width: 148
 Control / Product Length: 96
 Fabric Type: DWW
 Fabric Pattern: PAXTON
 Fabric Color: PENTELIC
 Fabric Cost Per Yard \$: 12.95
 Fabric Width: 55
 Top Hem: 4
 Bottom Hem: 4
 Side Hem: 1 1/2
 Return Length: 6
 Pin Placement: 1 1/4
 Stiffners: YES
 Fabric Yards Required: 267



DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

Date Ordered: 08/07/2025
 Entered By: Gladys Mejia
 Sales Order: 101227
 Sidemark: TREASURE ISLAND BUFF
 Ship Via: BW

Ship Date: 08/22/2025



SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD Phone: (702) 842-4044
 SAN DIEGO, CA 92154-7208

SHIP TO: Account:
 TREASURE ISLAND - BUFFALO TOWER Phone: (507) 884-7081
 5734 STURGEON LAKE RD Fax:
 WELCH, MN 55089-9647 Contact: KNUNTSON SUPT TIM JACOBSON

28	12	EA	SPECIAL DRAPERY - TRACK TRAVERSING PANELS		41.2215	494.65
			Room Location: WT-1 DRAPE			
			Room Type: GUEST ROOM			
			Header Type: PINCH PLEAT (3-FINGER)			
			Fullness: 200%			
			Draw Type: BATON			
			Mount Type: CEILING			
			Product Inclusion - Baton(s): 36" WHITE FIBERGLASS			
			Product Inclusion - Bracket(s): CEILING BRACKETS			
			Control / Product Width: 148			
			Control / Product Length: 96			
			Pin Placement: 1 1/4			
			Bracket Total: 6			
29	3	EA	SPECIAL DRAPERY - BLACKOUT TRAVERSING PANELS		62.6439	187.93
			Room Location: WT-1 DRAPE			
			Room Type: GUEST ROOM			
			Header Type: PINCH PLEAT (3-FINGER)			
			Fullness: 200%			
			Draw Type: BATON			
			Control / Product Width: 240			
			Control / Product Length: 96			
			Fabric Type: DWW			
			Fabric Pattern: PAXTON			
			Fabric Color: PENTELIC			
			Fabric Cost Per Yard \$: 12.95			
			Fabric Width: 55			
			Top Hem: 4			
			Bottom Hem: 4			
			Side Hem: 1 1/2			
			Return Length: 6			
			Pin Placement: 1 1/4			
			Stiffeners: YES			
			Fabric Yards Required: 96			
30	3	EA	SPECIAL DRAPERY - TRACK TRAVERSING PANELS		41.2215	123.66
			Room Location: WT-1 DRAPE			
			Room Type: GUEST ROOM			
			Header Type: PINCH PLEAT (3-FINGER)			
			Fullness: 200%			
			Draw Type: BATON			
			Mount Type: CEILING			
			Product Inclusion - Baton(s): 36" WHITE FIBERGLASS			
			Product Inclusion - Bracket(s): CEILING BRACKETS			
			Control / Product Width: 240			
			Control / Product Length: 96			
			Pin Placement: 1 1/4			
			Bracket Total: 9			



DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

Date Ordered: 08/07/2025
 Entered By: Gladys Mejia
 Sales Order: 101227
 Sidemark: TREASURE ISLAND BUFF
 Ship Via: BW

Ship Date: 08/22/2025



SUPPLIER: 103 RUFFO DE ALBA FORWARDER 9927 VIA DE LA AMISTAD SAN DIEGO, CA 92154-7208	SHIP TO: TREASURE ISLAND - BUFFALO TOWER 5734 STURGEON LAKE RD WELCH, MN 55089-9647	Account: Phone: (507) 884-7081 Fax: Contact: KNUTSON SUPT TIM JACOBSON
31 12 EA SPECIAL DRAPERY - BLACKOUT TRAVERSING PANELS		62.6439 751.72
Room Location: WT-1 ADA DRAPE Room Type: GUEST ROOM Header Type: PINCH PLEAT (3-FINGER) Fullness: 200% Draw Type: BATON Control / Product Width: 140 Control / Product Length: 96 Fabric Type: DWW Fabric Pattern: PAXTON Fabric Color: PENTELIC Fabric Cost Per Yard \$: 12.95 Fabric Width: 55 Top Hem: 4 Bottom Hem: 4 Side Hem: 1 1/2 Return Length: 6 Pin Placement: 1 1/4 Stiffners: YES Fabric Yards Required: 228		
32 12 EA SPECIAL DRAPERY - TRACK TRAVERSING PANELS		41.2215 494.65
Room Location: WT-1 ADA DRAPE Room Type: GUEST ROOM Header Type: PINCH PLEAT (3-FINGER) Fullness: 200% Draw Type: BATON Mount Type: CEILING Product Inclusion - Baton(s): 48" WHITE FIBERGLASS ADA LOOPED Product Inclusion - Bracket(s): CEILING BRACKETS Control / Product Width: 140 Control / Product Length: 96 Pin Placement: 1 1/4 Bracket Total: 6		
33 1 EA SPECIAL DRAPERY - BLACKOUT TRAVERSING PANELS		62.6439 62.64
Room Location: WT-1 ADA DRAPE Room Type: GUEST ROOM Header Type: PINCH PLEAT (3-FINGER) Fullness: 200% Draw Type: BATON Control / Product Width: 243 Control / Product Length: 96 Fabric Type: DWW Fabric Pattern: PAXTON Fabric Color: PENTELIC Fabric Cost Per Yard \$: 12.95 Fabric Width: 55 Top Hem: 4 Bottom Hem: 4 Side Hem: 1 1/2 Return Length: 6 Pin Placement: 1 1/4 Stiffners: YES Fabric Yards Required: 41 1/2		



DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

Date Ordered: 08/07/2025
 Entered By: Gladys Mejia
 Sales Order: 101227
 Sidemark: TREASURE ISLAND BUFF
 Ship Via: BW

Ship Date: 08/22/2025



SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD Phone: (702) 842-4044
 SAN DIEGO, CA 92154-7208

SHIP TO: Account:
 TREASURE ISLAND - BUFFALO TOWER Phone: (507) 884-7081
 5734 STURGEON LAKE RD Fax:
 WELCH, MN 55089-9647 Contact: KNUNTSON SUPT TIM JACOBSON

34	1	EA	SPECIAL DRAPERY - TRACK TRAVERSING PANELS		41.2215	41.22
			Room Location:	WT-1 ADA DRAPE		
			Room Type:	GUEST ROOM		
			Header Type:	PINCH PLEAT (3-FINGER)		
			Fullness:	200%		
			Draw Type:	BATON		
			Mount Type:	CEILING		
			Product Inclusion - Baton(s):	48" WHITE FIBERGLASS ADA LOOPED		
			Product Inclusion - Bracket(s):	CEILING BRACKETS		
			Control / Product Width:	243		
			Control / Product Length:	96		
			Pin Placement:	1 1/4		
			Bracket Total:	9		
35	10	EA	SPECIAL DRAPERY - BLACKOUT TRAVERSING PANELS		62.6439	626.43
			Room Location:	ATTIC STOCK DRAPE		
			Room Type:	GUEST ROOM		
			Header Type:	PINCH PLEAT (3-FINGER)		
			Fullness:	200%		
			Draw Type:	BATON		
			Control / Product Width:	140		
			Control / Product Length:	96		
			Fabric Type:	DWW		
			Fabric Pattern:	PAXTON		
			Fabric Color:	PENTELIC		
			Fabric Cost Per Yard \$:	12.95		
			Fabric Width:	55		
			Top Hem:	4		
			Bottom Hem:	4		
			Side Hem:	1 1/2		
			Pin Placement:	1 1/4		
			Stiffeners:	YES		
			Fabric Yards Required:	90		
36	10	EA	SPECIAL DRAPERY - TRACK TRAVERSING PANELS		0.0000	0.00
			Room Location:	ATTIC STOCK DRAPE		
			Room Type:	GUEST ROOM		
			Header Type:	PINCH PLEAT (3-FINGER)		
			Fullness:	200%		
			Draw Type:	BATON		
			Mount Type:	CEILING		
			Product Inclusion - Baton(s):	36" WHITE FIBERGLASS		
			Control / Product Width:	140		
			Control / Product Length:	96		
			Pin Placement:	1 1/4		



DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

Date Ordered: 08/07/2025
 Entered By: Gladys Mejia
 Sales Order: 101227
 Sidemark: TREASURE ISLAND BUFF
 Ship Via: BW

Ship Date: 08/22/2025



SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD Phone: (702) 842-4044
 SAN DIEGO, CA 92154-7208

SHIP TO: Account:
 TREASURE ISLAND - BUFFALO TOWER Phone: (507) 884-7081
 5734 STURGEON LAKE RD Fax:
 WELCH, MN 55089-9647 Contact: KNUNTSON SUPT TIM JACOBSON

37 6 EA SPECIAL DRAPERY - BLACKOUT 0.0000 0.00

TRAVERSING PANELS

Room Location: WT3 TRUNDLE BED
 Room Type: GUEST ROOM
 Header Type: PINCH PLEAT (3-FINGER)
 Fullness: 200%
 Draw / Stack: LEFT DRAW / RIGHT STACK (1 PANEL)
 Draw Type: BATON
 Control / Product Width: 80
 Control / Product Length: 55
 Fabric Type: MOMENTUM
 Fabric Pattern: MELTON
 Fabric Color: HEATHER
 Fabric Cost Per Yard \$: 15.6
 Fabric Width: 59
 Top Hem: 4
 Bottom Hem: 4
 Side Hem: 1 1/2
 Pin Placement: 1 1/4
 Stiffners: YES
 Fabric Yards Required: 45

38 6 EA SPECIAL DRAPERY - TRACK 0.0000 0.00

TRAVERSING PANELS

Room Location: WT3 TRUNDLE BED
 Room Type: GUEST ROOM
 Header Type: PINCH PLEAT (3-FINGER)
 Fullness: 200%
 Draw / Stack: LEFT DRAW / RIGHT STACK (1 PANEL)
 Draw Type: BATON
 Mount Type: CEILING
 Product Inclusion - Baton(s): 36" WHITE FIBERGLASS
 Product Inclusion - Bracket(s): CEILING BRACKETS
 Control / Product Width: 80
 Control / Product Length: 55
 Pin Placement: 1 1/4
 Bracket Total: 4

39 6 EA SPECIAL DRAPERY - SHEER 42.2142 253.28

TRAVERSING PANELS

Room Location: WT4 ELEV LOBBY
 Room Type: PUBLIC AREA
 Header Type: PINCH PLEAT (3-FINGER)
 Fullness: 200%
 Draw Type: BATON
 Control / Product Width: 144
 Control / Product Length: 108
 Fabric Type: MAHARAM
 Fabric Pattern: PANORAMA
 Fabric Color: LIVELY
 Fabric Cost Per Yard \$: 56.05
 Fabric Width: 128
 Top Hem: 4
 Bottom Hem: 4
 Side Hem: 1 1/2
 Return Length: 3
 Pin Placement: 1 1/4
 Bottom Treatment: CHAIN WEIGHTS
 Stiffners: YES
 Fabric Yards Required: 60



DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

Date Ordered: 08/07/2025
 Entered By: Gladys Mejia
 Sales Order: 101227
 Sidemark: TREASURE ISLAND BUFF
 Ship Via: BW

Ship Date: 08/22/2025



SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD Phone: (702) 842-4044
 SAN DIEGO, CA 92154-7208

SHIP TO: Account:
 TREASURE ISLAND - BUFFALO TOWER Phone: (507) 884-7081
 5734 STURGEON LAKE RD Fax:
 WELCH, MN 55089-9647 Contact: KNUTSON SUPT TIM JACOBSON

40	6	EA	SPECIAL DRAPERY - TRACK TRAVERSING PANELS		41.8833	251.29
			Room Location: WT4 ELEV LOBBY			
			Room Type: PUBLIC AREA			
			Header Type: PINCH PLEAT (3-FINGER)			
			Fullness: 200%			
			Draw Type: BATON			
			Mount Type: CEILING			
			Product Inclusion - Baton(s): 48" WHITE FIBERGLASS			
			Product Inclusion - Bracket(s): CEILING BRACKETS			
			Control / Product Width: 144			
			Control / Product Length: 108			
			Pin Placement: 1 1/4			
			Bracket Total: 6			
41	424	EA	SPECIAL PRODUCT - BOLSTER - CUSTOM BOLSTER		31.9169	13,532.76
			Room Location: ACC1 BOLSTER			
			Room Type: GUEST ROOM			
			Edge Type: SELF WELT			
			Closure: ZIPPER			
			Width: 46			
			Diameter: 6			
			Fabric Number: POLLACK - REQ 636 YDS			
			Fabric Pattern: RIOT 2476-06			
			Fabric Color: UNDER THE SEA			
			Fabric Width: 54			
			Insert: STANDARD INSERT			
42	9	EA	SPECIAL PRODUCT - BOLSTER - CUSTOM BOLSTER		31.9149	287.23
			Room Location: ACC6 FAMILY STE BOLSTER			
			Room Type: GUEST ROOM			
			Edge Type: SELF WELT			
			Closure: ZIPPER			
			Width: 26			
			Diameter: 6			
			Fabric Number: CORAL FABRICS - REQ 9 YDS			
			Fabric Pattern: WINDFALL			
			Fabric Color: CERISE			
			Fabric Width: 54			
			Insert: STANDARD INSERT			
43	1	EA	SPECIAL DRAPERY - BLACKOUT TRAVERSING PANELS		0.0000	0.00
			Room Location: WT3 TRUNDLE BED ATT			
			Room Type: GUEST ROOM			
			Header Type: PINCH PLEAT (3-FINGER)			
			Fullness: 200%			
			Draw / Stack: LEFT DRAW / RIGHT STACK (1 PANEL)			
			Draw Type: BATON			
			Control / Product Width: 80			
			Control / Product Length: 55			
			Fabric Type: MOMENTUM			
			Fabric Pattern: MELTON			
			Fabric Color: HEATHER			
			Fabric Cost Per Yard \$: 15.6			
			Fabric Width: 59			
			Top Hem: 4			
			Bottom Hem: 4			
			Side Hem: 1 1/2			
			Pin Placement: 1 1/4			
			Stiffners: YES			
			Fabric Yards Required: 22 1/2			



DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

Date Ordered: 08/07/2025
 Entered By: Gladys Mejia
 Sales Order: 101227
 Sidemark: TREASURE ISLAND BUFF
 Ship Via: BW

Ship Date: 08/22/2025



SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD Phone: (702) 842-4044
 SAN DIEGO, CA 92154-7208

SHIP TO: Account:
 TREASURE ISLAND - BUFFALO TOWER Phone: (507) 884-7081
 5734 STURGEON LAKE RD Fax:
 WELCH, MN 55089-9647 Contact: KNUNTSON SUPT TIM JACOBSON

44	1	EA	SPECIAL DRAPERY - TRACK TRAVERSING PANELS		0.0000	0.00
			Room Location: WT3 TRUNDLE BED ATTIC			
			Room Type: GUEST ROOM			
			Header Type: PINCH PLEAT (3-FINGER)			
			Fullness: 200%			
			Draw / Stack: LEFT DRAW / RIGHT STACK (1 PANEL)			
			Draw Type: BATON			
			Mount Type: CEILING			
			Product Inclusion - Baton(s):36" WHITE FIBERGLASS			
			Control / Product Width: 80			
			Control / Product Length: 55			
			Pin Placement: 1 1/4			
45	1	EA	SPECIAL DRAPERY - SHEER TRAVERSING PANELS		42.2142	42.21
			Room Location: WT4 ELEV LOBBY ATTIC			
			Room Type: PUBLIC AREA			
			Header Type: PINCH PLEAT (3-FINGER)			
			Fullness: 200%			
			Draw Type: BATON			
			Control / Product Width: 144			
			Control / Product Length: 108			
			Fabric Type: MAHARAM			
			Fabric Pattern: PANORAMA			
			Fabric Color: LIVELY			
			Fabric Cost Per Yard \$: 56.05			
			Fabric Width: 128			
			Top Hem: 4			
			Bottom Hem: 4			
			Side Hem: 1 1/2			
			Return Length: 3			
			Pin Placement: 1 1/4			
			Bottom Treatment: CHAIN WEIGHTS			
			Stiffners: YES			
			Fabric Yards Required: 10			
46	1	EA	SPECIAL DRAPERY - TRACK TRAVERSING PANELS		0.0000	0.00
			Room Location: WT4 ELEV LOBBY ATTIC			
			Room Type: PUBLIC AREA			
			Header Type: PINCH PLEAT (3-FINGER)			
			Fullness: 200%			
			Draw Type: BATON			
			Mount Type: CEILING			
			Product Inclusion - Baton(s):48" WHITE FIBERGLASS			
			Control / Product Width: 144			
			Control / Product Length: 108			
			Pin Placement: 1 1/4			
47	1		SPECIAL IMPORTATION DUTIES - \$4,276.00 Removed * PER QUOTE 38356-II REV5 09.08.25 (Preliminary cost \$6,771.00)		0.0000	0.00
			(No import duties to be billed as duties paid when Star Textile shipment was imported)			
			* 10% DUTIES FOR IMPORTATION OF C.O.M. FABRICS, BASED ON ESTIMATED COST (COULD VARY DEPENDING ON DECLARED COST)			
48	1		SPECIAL ALUMINUM DUTIES - Partial Billing - Invoice 27190 10.31.25 (Entry 41175) * PER QUOTE 38356-II REV5 09.08.25 \$1,636.00 (preliminary cost \$1,679.00)		1227.0000	1,227.00
			* 25% DUTIES FOR EXPORTATION OVER ALUM. AND STEEL MATERIALS (TRUMP TARIFF)			



DIAMANTE WORLDWIDE
 519 East Interstate 30
 PMP 253
 Rockwall, TX 75087
 Phone: (800) 440-2916
 Fax:

Date Ordered: 08/07/2025
 Entered By: Gladys Mejia
 Sales Order: 101227
 Sidemark: TREASURE ISLAND BUFF
 Ship Via: BW

Ship Date: 08/22/2025



SUPPLIER: 103
 RUFFO DE ALBA FORWARDER
 9927 VIA DE LA AMISTAD
 SAN DIEGO, CA 92154-7208

Phone: (702) 842-4044

SHIP TO: Account:
 TREASURE ISLAND - BUFFALO TOWER Phone: (507) 884-7081
 5734 STURGEON LAKE RD Fax:
 WELCH, MN 55089-9647 Contact: KNUNTSON SUPT TIM JACOBSON

49	1	SPECIAL EXPORTATION DUTIES - Partial Billing - Invoice 27190 10.31.25 (Entry 41175) * PER QUOTE 38356-II REV4 06.19.25 \$17,113.00	12834.7500	12,834.75
* 25% DUTIES FOR USA IMPORTATION OF FINISHED GOODS ON NON-USCMA ITEMS (PER PRESIDENT'S TRUMP FENTANYL TARIFF)				
50	1	SPECIAL ALUMINUM DUTIES - BALANCE PENDING BILLING * PER QUOTE 38356-II REV5 09.08.25 \$1,636.00 (preliminary cost \$1,679.00)	407.0000	407.00
* 25% DUTIES FOR EXPORTATION OVER ALUM. AND STEEL MATERIALS (TRUMP TARIFF) * Revised Per Quote Rev7 12/16/25				
51	1	SPECIAL EXPORTATION DUTIES - BALANCE PENDING BILLING * PER QUOTE 38356-II REV4 06.19.25 \$17,113.00	4278.2500	4,278.25
* 25% DUTIES FOR USA IMPORTATION OF FINISHED GOODS ON NON-USCMA ITEMS (PER PRESIDENT'S TRUMP FENTANYL TARIFF)				
52	1	SPECIAL SPECIAL - DRAPERY - SHEER *Adjustment per Quote Rev7 (12.16.25)	-47.0000	-47.00
53	1	SPECIAL SPECIAL - DRAPERY - BLACKOUT *Adjusted per Quote Rev7 (12.16.25)	-1.0000	-1.00

TOTAL: 92,204.90
 EFFECTIVE DISCOUNT RATE: 0.00%
 DISCOUNTED TOTAL: 92,204.90